
 

 

 

1. If	sin	 𝜃 = !!"#!

!!$#!
,	find	the	values	of	all	Trigonometric	ratios	of	𝜃.		

2. If	15cot	 𝐴 = 8,	find	the	values	of	sin	 𝐴	and	sec	 𝐴.	

3. If	sin	 𝐴 = %
&'
,	find	the	values	of	cos	 𝐴	and	tan	𝐴.	

4. If	cos	 𝜃 = 0.6,	Evaluate	(5sin	 𝜃 − 3tan	 𝜃)	.	

5. If	cosec	 𝜃 = 2,		Evaluate	Fcot	 𝜃 + ()*	 ,
'$-.(	 ,

H	.	

6. If	tan	 𝜃 = '
√0
,	show	that	1-.(2-

!	 ,"(2-!	 ,3
(-.(2-!	 ,$(2-!	 ,)

	.	

7. If	tan	 𝜃 = 67
6'
,	show	that	('"()*	 ,$-.(	 ,)

('$()*	 ,$-.(	 ,)
	.	

8. If	sec	 𝜃 = 8
&
,	show	that	(()*	 ,"6-.(	 ,)

(9:*	 ,"-.9	 ,)
.	

9. If	cot	 𝜃 = ;
&
,	show	that	L(2-	 ,"-.(2-	 ,

(2-	 ,$-.(2-	 ,
	.	

10. If	sin	 𝜃 = ;
&
,	show	that	L-.(2-

!	 ,"-.9!	 ,
(2-!	 ,"'

	.	

11. If	sin	 𝜃 = !
<
	,	show	that	(sec	 𝜃 + tan	 𝜃) = L#$!

#"!
	.	

12. In	the	adjoining	figure,	∠𝐵 = 90∘, ∠𝐵𝐴𝐶 = 𝜃∘, 𝐵𝐶 = 𝐶𝐷 = 4	cm	and	𝐴𝐷 = 10	cm.	Find	(i)	

sin	 𝜃	and	(ii)	cos	 𝜃.	

	 	

	 	

	 	

	 	

	

13. In	a	△ 𝐴𝐵𝐶, ∠𝐶 = 90∘, ∠𝐴𝐵𝐶 = 𝜃∘, 𝐵𝐶 = 21	units	and	𝐴𝐵 = 29	units.	Show	that	

(cos6	 𝜃 − sin6	 𝜃) = &'
>&'
	.	

14. In	a	△ 𝐴𝐵𝐶, ∠𝐵 = 90∘, 𝐴𝐵 = 12	cm	and	𝐵𝐶 = 5	cm.	

Find	(i)	cos	 𝐴	

(ii)	cosec	 𝐴	
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(iii)	cos	 𝐶	

(iv)	cosec	 𝐶	

15. If	sin	 𝛼 = '
6
,	prove	that	(3cos	 𝛼 − 4cos;	 𝛼) = 0	.	

16. If	∠𝐴	and	∠𝐵	are	acute	angles	such	that	sin	 𝐴 = sin	 𝐵	then	prove	that	∠𝐴 = ∠𝐵.	

17. If	∠𝐴	and	∠𝐵	are	acute	angles	such	that	tan	 𝐴 = tan	 𝐵	then	prove	that	∠𝐴 = ∠𝐵.	

18. In	a	right	△ 𝐴𝐵𝐶,	right-angled	at	𝐵,	if	tan	 𝐴 = 1	then	verify	that	

		,	2sin	 𝐴 ⋅ cos	 𝐴 = 1	.	

19. If	𝑥 = cosec	 𝐴 + cos	 𝐴	and	𝑦 = cosec	 𝐴 − cos	 𝐴	,then	prove	that,	

\
2

𝑥 + 𝑦]
6
+ F

𝑥 − 𝑦
2

H
6
− 1 = 0	

20. If	𝑥 = cot	 𝐴 + cos	 𝐴	and	𝑦 = cot	 𝐴 − cos	 𝐴,	prove	that	

\
𝑥 − 𝑦
𝑥 + 𝑦]

6
+ F

𝑥 − 𝑦
2

H
6
= 1	

	

Answers		

1. sin	 𝜃 = !!"#!

!!$#!
, cos	 𝜃 = 6!#

!!$#!
, tan	 𝜃 = !!"#!

6!#
,	cosec	 𝜃 = !!$#!

!!"#!
, sec	 𝜃 = !!$#!

6!#
, cot	 𝜃 = 6!#

!!"#!
	

2. sin	 𝐴 = '8
'0
, sec	 𝐴 = '0

>
	

3. cos	 𝐴 = &7
&'
, tan	 𝐴 = %

&7
	

4. 0	

5. 2	

6. ;
&
	

7. ;
0
	

8. '6
0
	

9. '
√0
	

10. √0
;
	



 

 

12. 					(i)	sin	 𝜃 = 6√';
';
	

				(ii)	cos	 𝜃 = ;√';
';
	

14. 					(i)		'6
';
	

				(ii)		';
8
	

			(iii)		 8
';
	

			(iv)		';
'6
	

 


